
What am I?

Math in English

Add and use the letters to find the answer to the riddle

15 + 10 = T

14 + 31 = Q

12 + 42 = V

83 + 12 = L

65 + 24 = K

33 + 13 = R

44 + 44 = O

22 + 13 = A

20 + 17 = E

52 + 16 = N

34 + 43 = B

25 + 24 = P

35 25 37 35 49 88 25

What begins with the letter ‘T’, ends with the letter ‘T’ ,
and has ‘T’ in it ?



What am I?

Math in English

Add and use the letters to find the answer to the riddle

15 + 10 = 25 T

14 + 31 = 45 Q

12 + 42 = 54 V

83 + 12 = 95 L

65 + 24 = 89 K

33 + 13 = 46 R

44 + 44 = 88 O

22 + 13 = 35 A

20 + 17 = 37 E

52 + 16 = 68 N

34 + 43 = 77 B

25 + 24 = 49 P
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What begins with the letter ‘T’, ends with the letter ‘T’ ,
and has ‘T’ in it ?


